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294F 8,737 34 6,110 2,593| 3,663 28 2,523 1,112| 2,060 732 32 1,204 824 326 9 194 123 1,412, 956
304F 7,967 44 5,618 2,305 3,340 41 2,307 992| 1,952 704 46 1,114 792 359 3 219 137 1,412, 881
ARTCH 6,771 44 4,748 1,979 2,840 38 1,969 833] 1,736 648 37 988 711 232 5 146 81 1,413, 959
24E 6,039 38 4,172 1,829 2,511 41 1,641 829 1,807 592 55 1,048 704 236 22 134 80 1,413,610
34 5,814 38 3,696 2 080 2,952 34 1,872 1,046 1,893 543 34 1,006 853 227 2 115 110 1,410, 352
44 6,830 52 4,369 2 409 3,021 35 1,831 1 155| 2,146 552 41 1,050 1 055 249 7 127 115 1, 409, 388
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2 ﬂ:ll Ifqu IJIL.\%I] *ﬁé'{klﬂ [ wgﬁ!\‘ ]
B 0 14 i i &S 14 I
X 43 RO4 RO3 A 4 b RO4 RO3 A 4 b R0O4 RO3 B4R
1~128 | 1~128 | % B 1~128 | 1~128 | # e 1~12H8 | 1~12H8 | WAk
L R s 2K 6,830 5,814 1,016 17.5 3,021 2,952 69 2.3 44.2 50.8 6.6
R 125 102 23 22.5 104 80 24 30.0 83.2 78.4 4.8
H OB O OB 458 414 44 10.6 217 343 -126 -36.7 47.4 82.9 -35.5
Al = 3L 52 38 14 36.8 35 34 1 2.9 67.3 89.5 -22.2
N 10 3 7 233.3 7 3 4 133.3 70.0 100.0 -30.0
TR 7 4 3 75.0 7 5 2 40.0 100.0 125.0 -25.0
A 3 1 2 200.0 3 1 2 200.0 100.0 100.0
YA 2 1 1 100.0 3 3 — 150.0 150.0
ZOfh 2 2 1 4 -3 -75.0 50.0 200.0] -150.0
K 11 6 5 83.3 3 8 -5 -62.5 27.3 133.3]  -106.0
SR PE RS 24 25 -1 -4.0 18 18 75.0 72.0 3.0
H = 3L 620 489 131 26.8 514 404 110 27.2 82.9 82.6 0.3
KIgeHEf A A
AT 316 228 88 38.6 271 182 89 48.9 85.8 79.8 6.0
55 5 EEOE 241 196 45 23.0 194 165 29 17.6 80.5 84.2 -3.7
(3] 46 49 -3 6.1 40 39 1 2.6 87.0 79.6 7.4
g 17 16 1 6.3 9 18 -9 -50.0 52.9 112.5 -59.6
%3 % 3L 4,369 3,696 673 18.2 1,831 1,872 —41 2.2 41.9 50.6 8.7
BAGH 378 374 4 1.1 170 319 -149 -46.7 45.0 85.3 -40.3
22X 125 90 35 38.9 48 67 -19 -28.4 38.4 74.4 -36.0
A 28 39 -11 -28.2 5 17 -12 -70.6 17.9 43.6 -25.7
Ja2Ex 9 16 -7 -43.8 3 9 -6 —66.7 33.3 56.3 -23.0
ATMIAEY
EN ) 9 6 3 50.0 6 6 66.7 100.0 -33.3
RS 1 1 1 -1] -100.0 100.0| -100.0
Rkl 13 7 6 85.7 1 3 -2 —66.7 7.7 42.9 -35.2
FalmpTEL 2 2 — —
HHRL 29 27 2 7.4 21 28 -7 -25.0 72.4 103.7 -31.3
HERL 46 51 -5 -9.8 27 57 -30 -52.6 58.7 111.8 -53.1
T 13 5 8 160.0 6 4 2 50.0 46.2 80.0 -33.8
WAEFL 7 8 -1 -12.5 4 3 1 33.3 57.1 37.5 19.6
BERL 36 44 -8 -18.2 18 41 -23 -56.1 50.0 93.2 -43.2
ZOMIZAGE 60 80 -20 -25.0 31 83 -52 -62.7 51.7 103.8 -52.1
T 1,367 978 389 39.8 142 120 22 18.3 10.4 12.3 -1.9
EEERZ 71 37 34 91.9 41 20 21 105.0 57.7 54.1 3.6
F—h A 85 52 33 63.5 11 18 -7 -38.9 12.9 34.6 -21.7
El A 1,211 889 322 36.2 90 82 8 9.8 7.4 9.2 -1.8
ER eV 2,624 2,344 280 11.9 1,519 1,433 36 6.0 57.9 61.1 -3.2
I 30 58 -28 -48.3 85 70 15 21.4 283.3 120.7 162.6
ATMZbH 1 -1 -100.0 —
JRERHN 3 7 —4 -57.1 1 -1]  -100.0 14.3 -14.3
Vo7<b) 2 1 1 100.0 1 1 — 50.0 50.0
) 7 2 5 250.0 5 4 1 25.0 71.4 200.0] -128.6
Bylx 71 209 -138 -66.0 34 92 -58 -63.0 47.9 44.0 3.9
IRIEE b0 10 5 5 100.0 2 2 — 20.0 20.0
ElR e 289 260 29 11.2 37 70 -33 —47.1 12.8 26.9 -14.1
b 179 123 56 45.5 22 13 9 69.2 12.3 10.6 1.7
EE: 2 e o 50 33 17 51.5 82 119 -37 -31.1 164.0 360.6] -196.6
AR 52 38 14 36.8 24 14 10 71.4 46.2 36.8 9.4
Jigl& 1,032 925 107 11.6 829 746 83 11.1 80.3 80.6 -0.3
ZDfh 899 682 217 31.8 398 304 94 30.9 44.3 44.6 -0.3
H fE 30 664 489 175 35.8 273 257 16 6.2 41.1 52.6 -11.5
TR 595 442 153 34.6 231 218 13 6.0 38.8 49.3 -10.5
REHE 32 25 7 28.0 17 20 -3 -15.0 53.1 80.0 -26.9
(35 33 20 13 65.0 22 18 4 22.2 66.7 90.0 -23.3
Wil 1 1 — 1 1 — 100.0 —
TiAE R 1 1 — —
I AFIFILETE
T 2 2 2 1 1 100.0 100.0 50.0 50.0
5 I3 A 97 99 =2 =2.0 80 71 9 12.7 82.5 71.7 10.8
ekt 1 -1 -100.0 1 1 — — —
SRV 66 58 8 13.8 64 41 23 56.1 97.0 70.7 26.3
NRDVED 28 30 -2 -6.7 11 21 -10 -47.6 39.3 70.0 -30.7
PO SRS 3 10 -7 -70.0 4 9 -5 -55.6 133.3 90.0 43.3
Z Dt o JH HE AL 1,028 1,003 25 2.5 288 314 -26 -8.3 28.0 31.3 -3.3
o A7 BT R B 129 125 4 3.2 58 63 -5 -7.9 45.0 50.4 -5.4
T AR TG 6 5 1 20.0 4 6 -2 -33.3 66.7 120.0 -53.3
NBEHITH S 20 22 -2 -9.1 21 22 -1 -4.5 105.0 100.0 5.0
Kk
FEEREA 142 138 4 2.9 48 69 -21 -30.4 33.8 50.0 -16.2
R R 2 1 1 100.0 2 1 1 100.0 100.0 100.0
WA - A& 78 7 6 1 16.7 5 5 71.4 83.3 -11.9
TR 627 610 17 2.8 91 84 7 8.3 14.5 13.8 0.7
ZDfth 95 96 -1 -1.0 59 64 -5 -7.8 62.1 66.7 -4.6
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i ES A B % AN B (4 ) AE O R
X 43 RO4 RO3 A 4 b RO4 RO3 A 4 b R0O4 RO3 B4R
1~128 | 1~12H = B 1~12H | 1~12H | N B 2 1~128 | 1~128 | BAob
L R s 2K 2,146 1,893 253 13.4 249 227 22 9.7 11.6 12.0 —0.4
R 103 79 24 30.4 19 6 13 216.7 18.4 7.6 10.8
H OB O OB 85 96 -11 -11.5 7 16 -9 -56.3 8.2 16.7 -8.5
Al o 3L 41 34 7 20.6 7 2 5 250.0 17.1 5.9 11.2
N 7 4 3 75.0 1 1 — 14.3 14.3
TR 13 12 1 8.3 2 2 15.4 16.7 -1.3
A 3 2 1 50.0
YA 4 4 — 2 2 — 50.0 —
ZOfh 6 10 —4 -40.0 2 -2] -100.0 20.0 -20.0
K 2 8 -6 ~75.0
RIS 19 10 9 90.0 4 4 — 21.1 21.1
H = 3L 539 390 149 38.2 59 57 2 3.5 10.9 14.6 -3.7
KIgeHEf A A
217 277 172 105 61.0 18 15 3 20.0 6.5 8.7 -2.92
BE-BERT 216 176 40 22.7 35 35 16.2 19.9 -3.7
(3] 38 31 7 22.6 4 3 1 33.3 10.5 9.7 0.8
2Lig) 8 11 -3 -27.3 2 4 -2 -50.0 25.0 36.4]  -11.4
i % 30 1,050 1,006 44 4.4 127 115 12 10.4 12.1 11.4 0.7
RAGE 71 87 -16 -18.4 4 16 -12 -75.0 5.6 18.4] -12.8
22X 18 21 -3 -14.3 1 5 4 -80.0 5.6 23.8 -18.2
A 1 3 -2 -66.7 1 -1]  -100.0 33.3 -33.3
Ja2Ex 2 3 -1 -33.3
ATMIAEY
EN ) 6 6 1 2 -1 -50.0 16.7 33.3 -16.6
RS 1 -1 -100.0 —
kL 1 -1 -100.0 —
FalmpTEL
FHHTRL 11 5 6 120.0 1 1 9.1 20.0 -10.9
HETEL 14 8 6 75.0 1 2 -1 -50.0 7.1 25.0 -17.9
T 4 3 1 33.3
WAEFL 1 7 -6 -85.7 4 -4 -100.0 57.1 -57.1
AEERL 9 8 1 12.5
ZOMIZAGE 5 21 -16 -76.2 1 -1] -100.0 4.8 -4.8
T 69 60 9 15.0 29 24 5 20.8 42.0 40.0 2.0
EEERAA 9 8 1 12.5 1 1 — 11.1 11.1
F—F AU 9 7 2 28.6 7 6 1 16.7 77.8 85.7 -7.9
El A 51 45 6 13.3 21 18 3 16.7 41.2 40.0 1.2
FHRAGE 910 859 51 5.9 94 75 19 25.3 10.3 8.7 1.6
I 7 8 -1 -12.5 2 1 1 100.0 28.6 12.5 16.1
ATMZbH
JRERHN 1 -1 -100.0 —
Vo7<b) 1 1 — 1 1 — 100.0 —
) 4 1 3 300.0 1 1 — 25.0 25.0
Bylx 24 85 61 -71.8 4 2 2 100.0 16.7 2.4 14.3
IS FAB U 1 1 — —
ElR e 14 22 -8 -36.4 2 1 1 100.0 14.3 4.5 9.8
b 6 3 3 100.0 4 1 3 300.0 66.7 33.3 33.4
EE: 2 e o 2 2 2 2 — 100.0 100.0
AR 12 6 6 100.0
Jigl& 601 576 25 4.3 49 56 -7 -12.5 8.2 9.7 -1.5
ZDfh 238 155 83 53.5 29 14 15 107.1 12.2 9.0 3.2
H fE 30 233 189 44 23.3 9 10 -1 -10.0 3.9 5.3 -1.4
FEIK 210 154 56 36.4 7 10 -3 -30.0 3.3 6.5 -3.2
FERE 16 13 3 23.1
35 5 16 -11 -68.8 2 2 — 40.0 40.0
S 1 1 — —
TiAE R
I AFIFILETE
T 1 6 -5 -83.3
JL A 30 70 50 20 40.0 9 1 8 800.0 12.9 2.0 10.9
i e 5 5 — —
SRV 56 30 26 86.7 8 1 7 700.0 14.3 3.3 11.0
NRDLHED 7 15 -8 -53.3
PO SRS 2 5 -3 —60.0 1 1 — 50.0 50.0
Z Dt o JH HE AL 213 224 -11 -4.9 38 42 —4 9.5 17.8 18.8 -1.0
A R i e 57 58 -1 -1.7 12 12 21.1 20.7 0.4
T AR TG 6 9 -3 -33.3
NBEHITH S 14 19 -5 -26.3 1 1 — 7.1 7.1
Kk
[EHEEIN 30 40 -10 -25.0 6 19 -13 -68.4 20.0 47.5 -27.5
s AR 2 2 — —
WA - A& 78 6 15 -9 -60.0 4 3 1 33.3 66.7 20.0 46.7
e R 58 43 15 34.9 10 4 6 150.0 17.2 9.3 7.9
ZDfth 40 40 5 4 1 25.0 12.5 10.0 2.5




2 FEIL FAR BRI (GFELUSN) (BB R )
A I B % & B % %
X 43 RO4 RO3 A 4 b RO4 RO3 A 4 b R0O4 RO3 B4R
1~128 | 1~128 | % B 1~128 | 1~128 | # e 1~12H8 | 1~12H8 | WAk
% A 10 3 7] 233.3 7 3 4] 133.3 70.0] _ 100.0] _ 30.0
ETAEETIIN 5 1 4] 400.0 1 1 3] 300.0 80.0 100.0] 20.0
BEAZ DI 5 2 3] 150.0 3 2 1 50.0 60.0/  100.0]  -40.0
G 7 7 4 3 75.0 7 5 2 40.0  100.0] 125.0] 25.0
EYNITA 3 1 2] 200.0 3 1 2] 200.0] 100.0] 100.0
EERE 1 1 — 1 1 —| 100.0 —
£ lEE BE AR I
E;‘MQ(Z/E 1 -1] -100.0 1 -1|  -100.0 100.0 —
SRS (ZOfh
i 1 1 1 1 100.0
BAREZ D 1 1 — 1 1 —| " 100.0
E YN 4 3 1 33.3 4 4 100.0] 133.3] 33.3
P A 1 “1| -100.0 —
A B YE (57
)
H BB (Z 0
ftho> B B HL)
B Eins 2 1 1] 100.0 3 3 —| 150.0 150.0
JERNREZ DA 2 2 1 3 2| 66.7 50.0  150.0] ~100.0
2 2] 17 16 1 6.3 9 18 9] 500 52.9] 112.5] 59.6
12 2VE 8 1 4] 100.0 3 3 37.5 75.0] 375
=0 4 7 3] —42.9 3 9 6]  —66.7 75.0] 128.6] 53.6
TBZ D 5 5 3 6 3] =50.0 60.0/  120.0] -60.0
E B 595 442 153 34.6 231 218 13 6.0 38.8 49.3] 105
ST 174 39 85 95.5 15 7 8| 114.3 8.6 7.9 0.7
A H—F M|
) 2 1 1| 100.0
%‘/(5’*7\‘)%%
Tave s
sk 136 62 74| 119.4 2 1 1| 100.0 1.5 1.6 -0.1
Btrie)
g{égﬂﬁ;‘)’w 29 25 4 16.0 11 3 8|  266.7 37.9 12.0 25.9
SEOFHFZ D 7 1 6|  600.0 2 3 1] 333 28.6] 300.0] 271.4
Eda] 10 12 -2 -16.7 7 4 3 75.0 70.0 33.3 36.7
RENEER T 1 “1] -100.0 2 2| ~100.0 200.0 —
A5 5F A 16 7 9 128.6 5 4 1 25.0 31.3 57.1] —25.8
HZ T 15 10 5 50.0 15 1 11]  275.0] 100.0 40.0 60.0
PEr R
B0 15 10 5 50.0 15 4 11]  275.0 100.0 40.0 60.0
s 47 44 3 6.8 40 32 8 25.0 85.1 72.7 12.4
B 7 5 2 40.0 2 2 28.6 40.0] 114
T M 24 7 17| 242.9 10 14 4| 286 41.7]  200.0] -158.3
Fok - W 2 2 — —
BT 17 4 13| 325.0 11 1 10| 1,000.0 64.7 25.0 39.7
R 5 3 2 66.7 3 2 1 50.0 60.0 66.7 6.7
E
E%)ﬁ(wﬁﬁ% 9 3 ~1|  -33.3 1 2 “1|  -50.0 50.0 66.7| -16.7
BE 2 2 — 1 1 — 50.0 —
K
e 1 1 — 1 1 —| 100.0 —
U] 1 “1] -100.0 2 2| -100.0 200.0 —
At 12 3 9] 300.0 6 2 4] 200.0 50.0 66.7] 16.7
FFIRZ DA 266 256 10 3.9 117 142 25| -17.6 44.0 55.5| -11.5
11 B % 6 12 6]  50.0 8 10 2| —20.0] 133.3 83.3 50.0
FEZ DMZ D 260 244 16 6.6 109 132 23] 174 41.9 54.1 -12.2
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i B A 8 % AN B (D %) AE O R
X G R04 RO3 B M RO4 RO3 A 4 b R0O4 R0O3 B4R
1~128 | 1~12H = B 1~12H | 1~12H | N B R 1~128 | 1~128 | BAob
e A 7 4 3 75.0 1 1 — 14.3 14.3
ETEEIIN 4 2 2 100.0 1 1 — 25.0 25.0
HNT DM 3 2 1 50.0
5 % 13 12 1 8.3 2 2 15.4 16.7 -1.3
YNGR 3 2 1 50.0
EERE 1 1 — —
SRR
PO (5 2 ~2|  -100.0 —
AR (Z Ot ) . _ —
DJEEH)
RATREZ DA 1 1 — —
EREYN YA 10 10 2 2 20.0 20.0
BRI 2 2| -100.0 —
H & #ihi (7
)
H B8 H5Ri% (20
ftho> B B HL)
% B 4 4 — 2 2 — 50.0 —
JEEAREZ O 6 8 -2 -25.0 2 -2 -100.0 25.0 -25.0
Rl g 8 11 -3 —27.3 2 4 -2 -50.0 25.0 36.4] 114
L) 2 2 1 1 — 50.0 50.0
7730 4 7 -3 -42.9 1 3 -2 -66.7 25.0 42.9 -17.9
I O 2 2 1 -1 -100.0 50.0 -50.0
7E K 210 154 56 36.4 7 10 -3 -30.0 3.3 6.5 -3.2
FE0fHF 5 3 2 66.7 3 3 — 60.0 60.0
A H—F M|
H (A —2rar)
AL B — 2 N
A (averr) 1 1 o o
(Z)—~—rvh
waie)
g{ég@’w 3 2 1 50.0 3 3 —|  100.0 100.0
DR 1 1
i 4 2 2 100.0
REEEFI 3 -3 -100.0 —
A AREE5F] A 1 2 -1 -50.0 1 1 — 100.0 100.0
i 9 3 6 200.0
PEr R
EEBEa 0 9 3 6 200.0
ESE 25 27 -2 -7.4 2 7 -5 -71.4 8.0 25.9 -17.9
SR 2 2 — —
ek b 6 4 2 50.0 1 1 — 16.7 16.7
IR - R 1 -1 -100.0 1 -1]  -100.0 100.0 —
P 6 6 — —
R 4 1 3 300.0
E
[ Bh 8 R e ) .
)
BE 2 2 — —
K
FZ DA 1 1 — —
FEED 3 -3 -100.0 —
ZEt 6 6 — —
FERZE DM 142 105 37 35.2 2 -2 -100.0 1.9 -1.9
R BR 2% 6 5 1 20.0
FEE DO Z O 136 100 36 36.0 2 -2 -100.0 2.0 -2.0




2 ZHRIL FO5 BAM-REBIRE (BB R )
B N
B ] a3 i i &S 14 £ % S S
X 43 RO4 RO3 A 4 b RO4 RO3 A 4 b R0O4 RO3 B4R
1~128 | 1~128 | % B 1~128 | 1~128 | # e 1~12H8 | 1~12H8 | WAk
%5 % 30 4,369 3,695 674 18.2 1,831 1,872 —41 2.2 41.9 50.7 -8.8
= AN B O’ 378 374 4 1.1 170 319 -149 —46.7 45.0 85.3 -40.3
EEEE 125 90 35 38.9 48 67 -19 -28.4 38.4 74.4 -36.0
A Tr 28 39 -11 -28.2 5 17 -12 -70.6 17.9 43.6 -25.7
JEZeE 9 16 -7 -43.8 3 9 -6 -66.7 33.3 56.3 -23.0
ATMAEY
SRRV 9 6 3 50.0 6 6 66.7 100.0 -33.3
TREEREL 1 -1 -100.0 2 2] -100.0 200.0 —
BABNRL 3 -3 -100.0 1 3 -2 -66.7 — 100.0 —
EZio 1 1 1 -1]  -100.0 100.0] -100.0
kL 13 7 6 85.7 1 3 -2 -66.7 7.7 42.9 -35.2
FETHATEL 2 2 — —
HEFRL 29 27 2 7.4 21 28 -7 -25.0 72.4 103.7 -31.3
HUERL 46 51 -5 -9.8 27 57 -30 -52.6 58.7 111.8 -53.1
RS 13 5 8 160.0 6 4 2 50.0 46.2 80.0 -33.8
WRERL 7 8 -1 -12.5 4 3 1 33.3 57.1 37.5 19.6
AL 36 44 -8 -18.2 18 41 -23 -56.1 50.0 93.2 -43.2
BAGEZOM 60 76 -16 -21.1 30 78 -48 —61.5 50.0 102.6 -52.6
. OD OB W, 1,367 978 389 39.8 142 120 22 18.3 10.4 12.3 -1.9
EEERA 71 37 34 91.9 41 20 21 105.0 57.7 54.1 3.6
G ) 12 16 —4 -25.0 12 9 3 33.3 100.0 56.3 43.7
A 59 21 38 181.0 29 11 18 163.6 49.2 52.4 -3.2
F— A 85 52 33 63.5 11 18 -7 -38.9 12.9 34.6 -21.7
) 31 17 14 82.4 8 9 -1 -11.1 25.8 52.9 -27.1
G 54 35 19 54.3 3 9 -6 -66.7 5.6 25.7 -20.1
Ef R 1,211 889 322 36.2 90 82 8 9.8 7.4 9.2 -1.8
n o (FisEL7-) 381 247 134 54.3 32 14 18 128.6 8.4 5.7 2.7
n (fageed) 830 642 188 29.3 58 68 -10 -14.7 7.0 10.6 -3.6
R A G B 2,624 2,343 281 12.0 1,519 1,433 86 6.0 57.9 61.2 -3.3
HERA 28 31 -3 -9.7 26 24 2 8.3 92.9 77.4 15.5
TEHEYS 5 13 -8 —61.5 10 18 -8 -44.4 200.0 138.5 61.5
B
BHLE
B 3 3 2 1 1 100.0 66.7 33.3 33.4
SHRR 18 12 6 50.0 13 4 9 225.0 72.2 33.3 38.9
Rk E O 2 3 -1 -33.3 1 1 50.0 33.3 16.7
Z D 2,596 2,312 284 12.3 1,493 1,409 84 6.0 57.5 60.9 -3.4
HHE 30 58 -28 -48.3 85 70 15 21.4 283.3 120.7 162.6
ATMAAHU
O RbV
EwHRRBU
FEHNRHN 2 5 -3 -60.0 3 3 — 150.0 150.0
EEAHN 3 3 — 1 1 — 33.3 —
JRERHN 3 7 —4 -57.1 1 -1]  -100.0 14.3 -14.3
[y 2 1 1 100.0 1 1 — 50.0 50.0
N 7 2 5 250.0 5 4 1 25.0 71.4 200.0] -128.6
S 71 209 -138 -66.0 34 92 -58 -63.0 47.9 44.0 3.9
RIS S 10 5 5 100.0 2 2 — 20.0 20.0
#H Ebn 289 260 29 11.2 37 70 -33 -47.1 12.8 26.9 -14.1
n o (FisELT) 144 109 35 32.1 6 19 -13 -68.4 4.2 17.4 -13.2
n - (fageed) 145 151 -6 -4.0 31 51 -20 -39.2 21.4 33.8 -12.4
Hhh b 179 123 56 45.5 22 13 9 69.2 12.3 10.6 1.7
JBA R 11 7 4 57.1 1 -1]  -100.0 14.3 -14.3
EE TR e R 50 33 17 51.5 82 119 -37 -31.1 164.0 360.6] -196.6
afERbN» 52 38 14 36.8 24 14 10 71.4 46.2 36.8 9.4
THEBERLND 43 15 28 186.7 9 8 1 12.5 20.9 53.3 -32.4
EIR 1,032 925 107 11.6 829 746 83 11.1 80.3 80.6 -0.3
B RSN 85 92 -7 -7.6 36 30 6 20.0 42.4 32.6 9.8
FERbN 6 6 2 5 -3 -60.0 33.3 83.3 -50.0
SngEH 34 41 -7 -17.1 3 18 -15 -83.3 8.8 43.9 -35.1
B 1 1 — —
SEOMBE O 2 1 1 100.0 1 1 — 50.0 50.0
JEEAGEZOM 684 484 200 41.3 317 218 99 45.4 46.3 45.0 1.3
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i B A 8 % AN B (D %) A
X G R04 RO3 B M RO4 RO3 A 4 b R0O4 R0O3 B4R
1~128 | 1~12H | N B R 1~12H | 1~12H | N B 2 1~128 | 1~128 | BAob
%5 % 30 1,050 1,006 44 4.4 127 115 12 10.4 12.1 11.4 0.7
= AN B O’ 71 87 -16 -18.4 4 16 -12 -75.0 5.6 18.4 -12.8
EEEE 18 21 -3 -14.3 1 5 —4 -80.0 5.6 23.8 -18.2
A Tr 1 3 -2 -66.7 1 -1]  -100.0 33.3 -33.3
JEZeE 2 3 -1 -33.3
ATMAEY
SRRV 6 6 1 2 -1 -50.0 16.7 33.3 -16.6
TREEREL 1 -1 -100.0 —
BABNRL 3 -3 -100.0 —
EZio 1 -1 -100.0 —
kL 1 -1 -100.0 —
FETHATEL
HEFRL 11 5 6 120.0 1 1 9.1 20.0 -10.9
HUERL 14 8 6 75.0 1 2 -1 -50.0 7.1 25.0 -17.9
RS 4 3 1 33.3
WRERL 1 7 -6 -85.7 4 -4 -100.0 57.1 -57.1
AL 9 8 1 12.5
BAGEZOM 5 17 -12 -70.6 1 -1 -100.0 5.9 -5.9
® D B & 69 60 9 15.0 29 24 5 20.8 42.0 40.0 2.0
EEERA 9 8 1 12.5 1 1 — 11.1 11.1
G ) 5 4 1 25.0
A 4 4 1 1 — 25.0 25.0
I = A 9 7 2 28.6 7 6 1 16.7 77.8 85.7 -7.9
) 4 6 -2 -33.3 4 5 -1 -20.0 100.0 83.3 16.7
G 5 1 4 400.0 3 1 2 200.0 60.0 100.0 -40.0
Ef R 51 45 6 13.3 21 18 3 16.7 41.2 40.0 1.2
n o (FisEL7-) 8 2 6 300.0 4 2 2 100.0 50.0 100.0 -50.0
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L R s 2K 611 542 69 12.7 333 286 47 16.4 54.5 52.8 1.7
R 14 11 3 27.3 14 5 9 180.0 100.0 45.5 54.5
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Al = 3L 5 4 1 25.0 5 3 2 66.7 100.0 75.0 25.0
FN
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A 1 1 1 1 100.0 100.0
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ZDfh
ek
RIPEA S 4 3 1 33.3 4 2 2 100.0 100.0 66.7 33.3
H = 3L 47 37 10 27.0 45 28 17 60.7 95.7 75.7 20.0
KIgeHEf A A
217 19 10 9 90.0 17 10 7 70.0 89.5 100.0 -10.5
55 5 EEOE 24 23 1 4.3 26 16 10 62.5 108.3 69.6 38.7
(3] 2 3 -1 -33.3 1 2 -1 -50.0 50.0 66.7 -16.7
2Lig) 2 1 1 100.0 1 1 — 50.0 50.0
%3 % 3L 421 372 49 13.2 237 204 33 16.2 56.3 54.8 1.5
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FHHTRL 5 4 1 25.0 7 1 6 600.0 140.0 25.0 115.0
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FHRAGE 292 272 20 7.4 214 177 37 20.9 73.3 65.1 8.2
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Kk
[EHEEIN 16 9 7 77.8 4 5 -1 -20.0 25.0 55.6 -30.6
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%5 % 30 421 372 49 13.2 237 204 33 16.2 56.3 54.8 1.5
= AN B O’ 39 25 14 56.0 14 16 -2 -12.5 35.9 64.0 -28.1
EEEE 16 4 12 300.0 2 9 -7 -77.8 12.5 225.0] -212.5
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ATMAEY
SRRV
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HUERL 6 5 1 20.0 3 -3]  -100.0 60.0 -60.0
RS
WRERL 2 2| -100.0 1 -1]  -100.0 50.0 —
AL 5 2 3 150.0 2 2 — 40.0 40.0
BAGHEZDM 3 2 1 50.0 3 1 2 200.0 100.0 50.0 50.0
® V B & 90 75 15 20.0 9 11 -2 -18.2 10.0 14.7 —4.7
EEERA 3 4 -1 —25.0 2 2 66.7 50.0 16.7
G ) 3 -3] -100.0 2 2 — 66.7 —
A 3 1 2 200.0
I = A 6 13 -7 -53.8 2 2 33.3 15.4 17.9
) 2 1 1 100.0 1 1 — 50.0 50.0
G 4 12 -8 -66.7 1 2 -1 -50.0 25.0 16.7 8.3
Ef R 81 58 23 39.7 5 7 = -28.6 6.2 12.1 -5.9
n o (FisEL7-) 21 5 16 320.0 1 1 4.8 20.0 -15.2
n (fageed) 60 53 7 13.2 4 6 -2 -33.3 6.7 11.3 —4.6
FE R A 8§ & 292 272 20 7.4 214 177 37 20.9 73.3 65.1 8.2
HEIRA 4 1 3 300.0 1 1 25.0 100.0 -75.0
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BHLE
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SHRR 3 3 — 1 1 — 33.3 —
FEMRIBZ Ol
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O RbV
EwHRRBU
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IR 70
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Hhh b 11 16 -5 -31.3 1 1 — 9.1 9.1
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BT e 25 9 16 177.8 68 68 —| 2720 272.0
afERbN» 7 5 2 40.0 5 1 4 400.0 71.4 20.0 51.4
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